HOMUWHAIUA «TEXHUKA U TEXHUYECKOE TBOPYECTBO»

10 — 11 kaace
1 2 3 4 5
2 Gayna
gano | 504 000 py0. — cymma 1o AMBHACHIAM TpaKJaHHHA A. (27-13) |1-06; |3D -
TexHo | Pemenue: —-3,14 - 2 —B; | cKaHep
norus | 1) 50 000 000 — 32 000 000 = 18 000 000 py6. — mpuoHLIL 4-4+ 3—a; | ws
0AO 2,525 |4-r1; | cKaHUPOB
2) 18 000 000 * 0,4 = 7 200 000 py0. — obmast cyMmMa BBIILIAT | — 281,135 | 5—3: | amus
11O AMBHJICHIAM ~ 281 6 —e; | momei
3) 7 200 000 * 0,07 = 504 000 py6. — cyMMa o JUBUACHIAM i
rpakiaHnHa A. (cmM2) r—x
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0 |a |Imnoa 1-6, |a,6 |6 | dy6, 615 B 2 1-3B; |0 B a
(6epe3a) 2-a, OyK, MM 2—a;
3-T, KJIE€H 3-0.
4-B




